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Is the open access mode HNB/HeNB the same as a normal cell but uncoordinated deployment? 
No, in our view the open access mode HNB/HeNB is the same as a CSG cell with the exception that it is open to all UEs for access instead of closed. Therefore it should share all the properties of a CSG cell, e.g. specific HNB identification and reselection rules, it advertises a HNB-ID and CSG ID, it is unplanned for deployment, it shares the same SON and network architecture, etc.
 
What is the use case of the open access mode HNB/HeNB? 
The HNB/HenB owner or the operator will configure a HNB/HeNBs as open or closed depending on for instance the business model (e.g., preferred billing at HNB/HeNBs, enterprise vs. home), backhaul ownership, user preference based on security, government regulation, etc.
What requirements would be applied for the open access mode HNB/HeNB? (E.g. should all UEs prioritize the open access mode HNB/HeNB or only some UEs do that? How quickly should the UE be able to find the open access mode HNB/HeNB?)

For open access mode the prioritization can be managed using offsets specific to CSG cells. The offset applies to all CSG cells and to all UEs. In this way any HNB/HeNB is prioritized in the same way whether it is open or closed. The performance requirements for a UE to find an open access mode HNB/HeNB should be similar to those for finding a closed mode HNB/HeNB.
From the radio point of view, RAN2 only distinguishes normal cells and CSG cells. RAN2 wonders if for HNB/HeNB, is anything else needed other than these 2 types? 

An operator may choose to provide preferred billing at a HNB/HeNB that is operating in open access mode. In order to do this, a UE needs to be able to distinguish between a normal cell and a open access HNB/HeNB. Similarly, a UE needs to be able to distinguish between a closed CSG cell and an open cell for access. As such a third type of cell is needed.

Additionally, since a HNB/HeNB is not an operator deployed device, in some cases a user may not want to access a HNB/HeNB that is open without knowing it is a HNB/HeNB for privacy or security reasons. For instance, a company policy may be for company UEs to not access the open HNB/HeNB of another company. If there are only 2 types, then an open HNB/HeNB looks like an NB/eNB in which case the UE has no way to distinguish an open HNB/HeNB from a NB/eNB. In general a user may prefer to be informed if they are accessing a HNB/HeNB or a NB/eNB.
2. Actions:

None







































